11@309 (Kllagog)

Linearized knot diagam

Solving Sequence

5,110» 10?4?9?6?871?3?2?7%01,%
A knot diagranﬂ 10 4 9 5 8 €11 €3 2 7

Ideals for irreducible component#ﬂ)f Xpar

I = (' 4 u®™ 4 fu—1)

* 1 irreducible components of dim¢ = 0, with total 46 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u**4+u*®+..-+u—1)

(i) Arc colorings

ag =

ud —3ul +ut+2u%+1
—ud + 4ub — 4u*

—ul? 4+ 8ul7 — 24u1® 4+ 30ul® — Tull — 10u® — 4u” + 6ud + 3ud + 2u>

ayp =

as = u® — 97 + 32u'® — 55u!? + 43ult — 9u® — 4w’ —ud +u

—u3l 4+ 1402 4+ -+ 6ud + 2u>

(
(
(
(
a6 = (u73u5+2u3+u
(
(
(
(
(

az = w3 —15u3 + - — dud +u
udt — 15032 + - — w2+ 1
ar = \ —u3* +16u®? + .- — 2u* — 3u?
w3t —15u32 + - —u? 41
ar = \ —u* +16u®? + - — 2u* — 3u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?* + 84u*% + ... — 4u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,Cq w4 —3u—1
€3 ul® — 11 4 - — 95u + 11
C4;, C9, C10 u'® —u?® 4 u—1
Cs ul® £ 3u*® + ...+ 95u + 56
7 u® —u® . —3u—2
cg, C11 w4+ 119u 47




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C2,Ce 'O+ A1y 4+ = by + 1
cs y*0 4+ 5y® 4 .+ 2679y + 121
€4, C9, C10 y'© =43y + -~ by +1
cs y% — 15 + ... — 63233y + 3136
cr y46_3y45+...+15y+4
€8, C11 y*O +37y" 4 - — 1337y + 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
= —1.165530 + 0.1558561 3.73352 — 1.141941 | —3.26529+ 0.1
= —1.165530 — 0.1558561 3.73352 4+ 1.141941 | —3.26529 + 0.1

0.386832 + 0.6839261

1.91287 — 9.386521

—5.20305 + 7.910541

= 0.386832 — 0.6839261

1.91287 + 9.386521

—5.20305 — 7.910541

—0.397188 + 0.6646921

—3.31119 + 5.729791

—10.05626 — 7.330641

= —0.397188 — 0.6646921

—3.31119 — 5.729791

—10.05626 + 7.330641

= 0.528416 + 0.5460361

1.33332 + 5.270351

—6.71990 — 1.909331

= 0.528416 — 0.5460361

1.33332 — 5.270351

—6.71990 4 1.909331

1.240960 + 0.1244971

—1.94572 — 1.018201

0

1.240960 — 0.1244971

—1.94572 4+ 1.018201

0

= —0.494882 + 0.5612251

—3.73492 — 1.673501

—11.57713 4 0.856231

= —0.494882 — 0.5612251

—3.73492 + 1.673501

—11.57713 — 0.856231

0.441277 + 0.5950691

—1.58749 — 1.926741

—8.17224 + 4.169821

= 0.441277 — 0.5950691

—1.58749 4 1.926741

—8.17224 — 4.169821

0.407690 + 0.6182541

—1.47350 — 1.995491

—7.38990 + 2.723691

0.407690 — 0.6182541

—1.47350 + 1.995491

—7.38990 — 2.723691

= 1.263800 + 0.2219841 2.87934 — 7.342721 0
= 1.263800 — 0.2219841 2.87934 + 7.342721 0
= —1.276900 + 0.1861641 —2.59332 + 4.302451 0
= —1.276900 — 0.1861641 —2.59332 — 4.302451 0

—0.297294 4- 0.6207371

4.69829 + 1.246211

—1.93786 — 3.605641

—0.297294 — 0.6207371

4.69829 — 1.246211

—1.93786 + 3.60564.1

—0.062298 4 0.6468261

6.95779 +4.175991

1.17304 — 4.317361

e |g|g|g|g|g|g|g|g|”|g|f|g(g|g|g|g|g(g |-
|

—0.062298 — 0.6468261

6.95779 — 4.175991

1.17304 + 4.317361

u = —137176 —5.91200 0
= 1.386810 + 0.0598461 —2.09433 — 3.021631 0
= 1.386810 — 0.0598461 —2.09433 + 3.021631 0

0.057342 + 0.5807441

1.51039 — 1.501551

—2.27260 + 5.374261

0.057342 — 0.5807441

1.51039 + 1.501551

—2.27260 — 5.374261

gl
|

—0.506673 4 0.2702401

3.63229 + 1.966901

—5.76565 — 3.435891




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.506673 — 0.2702401 3.63229 — 1.966901 | —5.76565 + 3.435891
u= 142136+ 0.233181 —0.82034 — 4.360007 0
u= 1.42136 —0.233181 —0.82034 + 4.360001 0
u = —1.455682 + 0.232361 —7.46462 + 5.124551 0
u = —1.45582 — 0.232361 —7.46462 — 5.124551 0
u = —1.46312 + 0.215221 —7.72158 4 4.893071 0
u = —1.46312 — 0.215221 —7.72158 — 4.893071 0
u= 145856+ 0.247791 —9.28633 — 9.066451 0
uw= 1.45856 —0.247791 —9.28633 + 9.066451 0
u = —1.45711 4 0.256421 —4.02180 + 12.820701 0
u = —1.45711 — 0.256421 —4.02180 — 12.820701 0
u=1.46935+ 0.196731 —10.04570 — 1.081771 0
u= 146935 — 0.196731 —10.04570 + 1.081771 0
u = —1.47298 + 0.183761 —5.09568 — 2.649211 0
u = —1.47298 — 0.183761 —5.09568 4+ 2.649211 0
u= 0.346604 —0.677522 —14.9940




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C2,Cq U46+U45+"’*3U71
€3 u'® —11u* + - — 95u + 11
c4, Cg, C10 ut — 4w —1
€5 u* + 3u* + -+ - + 95u + 56
7 u® —u®® 4~ 3u—2
cs, C11 w7 o 4119047




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C2,Ce Y 41y o -5y 1
€3 Y20+ 5y 4. 42679y + 121
¢4, Cg, C10 Y — 43y .. 5y +1
Cs y% — 15y" + ... — 63233y + 3136
¢ y'0 —3y* + .+ 15y +4
cs, C11 y*® 437y ... — 1337y 4 49




